


PART B — (5 » 16 = 80 marks)

11. (a) () Tabulate the differences between cellular networks and ad boe
wireless networks. (F

Gi) Explain with an example and disgrammatic illustration et
diffraction and scattering
Or S
() Outline the design challenges in mabile ad hoe networks and wireless
sensor networks. 10y <=

R
LU
12. (a) () Explain the hidden and exposed terminal problems with an
example and diagrammatic illustration. ©) 35
(i) How media access protocol for wireless LANs (MACAW) based on
multiple access collision avoidance protocol (MACA) works? How
MACA avoids the problem of hidden terminals? How MACA avoids

the problem of exposed terminals? Give example. 40 ” F’-i}r' —
Or 4| A
(@) () How distributed packet reservation multiple access protocol vor :
Discuss with an example.

(i) How MACA protocol with pigey-backed reservation works? D
with an example.

¥ orotoea] for wireless ad hoe networks with an example




